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QUESTION 1

Consider the following code:

war firstArray = ["John", "Paul"”, "George"]
var secondArray = firstArray;
secondArray[1l] = "Ringo™;

alert (firstArray) ;

What is the output when you run this script in the browser?

A. An alert box displaying the following: John, Paul, George, Ringo
B. An alert box displaying the following: Ringo, John, Paul, George
C. An alert box displaying the following: Ringo, Paul, George

D. An alert box displaying the following: John, Ringo, George

Correct Answer: D

QUESTION 2

Which of the following is a practice associated with the security risk known as cross-site scripting (XSS)?
A. Inserting JavaScript code in a URL query string to perform an unintended or malicious action

B. Using a look-alike site to impersonate a trusted site so the user will enter sensitive information

C. Using a certificate authority validation to persuade users to accept a specialized script that can override certain
security restrictions in thebrowser

D. Launching a JavaScript statement that has no conditions for ending, thus requiring the user to close the browser in
order to end the script

Correct Answer: A

QUESTION 3

Which statement will open this Web document in a new browser window?
A. document.open(http://www.CIlWcertified.com);

B. window.open(http://www.ClWcertified.com);

C. window.open("http://www.CIlWCcertified.com");

D. document.open("http://www.ClWcertified.com™);

Correct Answer: C
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QUESTION 4

You want to display a series of elements. Which choice demonstrates the correct syntax for an array in JavaScript?
A. var myArray = Array(1,2,3,4,5)for (vari=0;i");

B. var myArray = new Array(1,2,3,4,5)for (vari=0;i");

C. var myArray = new Array(1,2,3,4,5)for (vari=1;i");

D. var myArray = Array(1,2,3,4,5)for (vari=1;i");

Correct Answer: B

QUESTION 5

Consider the following code:

<span id="myLink">
Il
</span>

What coes the following JawvaScript function accomplish?

function ciwhink(){
war wyLink = document.getElementById( 'myLink') ;
wyLink.innerHTML = "<a href='http:/ wnmo. CIWeertified. com'>" + myLink. innerHTML + "o/a>";

}

A. Replaces the text CIW with the text http://www.CIlWcertified.com
B. Replaces the text CIW with a link that reads myLink and points to the URL www.CIWcertified.com
C. Converts the text CIW into a link that reads CIW and points to the URL www.CIWcertified.com

D. Returns true if the content of the is a link to www.CIWcertified.com, or returns false if the content of the is not a link
towww.ClWcertified.com

Correct Answer: C
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